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ل م
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و
23!�ة ا
��!��ة  2Mو  1Mو ذ
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�� 2011ا
�6�� ا��45 !
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ت ا

 م=>ون .9ا�� ا
�6�� ا��45

دة ا5و
��  kg ا
�ا<9�
��� 1M: kg 1500ا.DA 8,72 

 ��

دة ا5و�
���. 2M: kg 1800ا DA 10,96kg  9>ا�
 ا
  !"�

�3<9ة ا
�ا<9ة  DA 71,43 و<9ة .ـ 1P : 320ا 
  !"�

�3<9ة ا
�ا<9ة  DA 81,748و<9ة .ـ 2P : 200ا 


ت ا
2!�ة��!Lم 
 ��

دة ا5و�
��� ��اء 1M :kg 8500ا. kg 9>ا�
 DA 6 ا
 ��

دة ا5و�
��� ��اء 2M :kg 6200ا. kg 9>ا�
 DA 8 ا



ر�N ا
�Lاء اOة ��9ر .ـ م��
 م� ��� ا
�Lاء% ��12
 ا�!��
Qت ا
2!�ة


دة  RS1P : T3�!� kg 2 و<9ة م"!'� م� �

دة  kg 1.5 و 1Mم� ا�
 2Mم� ا

دة  RS2P: T3�!� kg 2.4 و<9ة م"!'� م� �

دة  kg 2 و 1Mم� ا�
 2Mم� ا
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ج ا!	Wا Nر�
Oم 
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م�3 م�
��ة .��9ل  : 1Pا( 9� �� R��!�42 د�(
�

RY و<9ة أ%�ة ا ���: DA 24 
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م�3 م�
��ة .��9ل  : 2Pا( 9� �� R��!�30 �(
�
 DA 24 د:��� 
RY و<9ة أ%�ة ا
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 ا5)�
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ص =

ل ا�
2
^9ة )3[ ا
�أس ا
�T ا
'9ول ا
�ارد أد	
ه )�3
 ._ن ��� ا> �O=3و ��9ر .ـ  %2م 
��"�

1000.�"�
 ا5)�
ء ��Z ا
��!��ة ��9ر .ـ  2000000 
aز��!

ج ا!	Wا ����!

ن ا��
 ا

	�ي  29400 99500 68000� aم'��ع ��ز� 

�(
 ط���� و<9ة ا
��R مL!�ى kg و<9ات م"!'� و<9ات م�

ع��

ج ا!	Wا 
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 DA 90 و<9ة ��� ا
�<9ة ا
�ا<9ة 1P : 1800ا
  !"�
 DA100 ا
�ا<9ةو<9ة ��� ا
�<9ة  2P : 2450ا


ر�N ا
!�ز�a ��9ر .ـOم DA4 ��'!"�

RY و<9ة م�
)� م� ا 
 �^
g	 م=>ون 

1M : kg 1120 2M : kg 880 
1P : ؟ 
2P : ؟ 
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7- RY
 ��%��

ج 
�3"!'�� وا
!�23Y ا
����� ا!	W�23 اY� ب
� م"!  <
8-  ��'!"�3
 �23Y!

ب ��� ا�> 
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